2.0%

.\}4_’_:

L5 :': 1:%10 g~ >

o
T S Y

44 = 10 78 5 B o

482/&¢ » H ¢ &
§ 34595 H a2

i:ll'&%"40/o

C OOO\) D1

e
“311
g
- f :\3
\TP«

A7 T X3 BEYG3 Hw
119 =~ 275 rg,m 4,733 .gm 156 rga. 299 # ~ 68 i~ 238 B~

i 99.9%- 1 & 99.896° it ¢ 98.6% - & 87.3%¢ i & 7549 i1+ 70.6%- i+ 63.4%-

-l
—_—

- ~
2) (&) ([

Y

FERE S T2 ER VTP

ER=2 BRR R FF L |
180 =~ 3,385 i = 357 =~
R R R R e g%
r o i o i o

7R % ¢ https://www.stat.gov.tw/ct.asp?x1tem=43631&CtNode=6470&mp=4 - o



https://www.stat.gov.tw/ct.asp?xItem=43631&CtNode=6470&mp=4
https://www.stat.gov.tw/ct.asp?xItem=43631&CtNode=6470&mp=4

